Prin. Dr. Sudhakar Jadhavar Arts, Commerce & Science College

Manaji Nagar Narhe- 411041

Date: 02/01/2023

Notice

Examination Committee Meeting

This is inform to all the Exam committee members that the 3rd Committee Meeting will be conducted on 04/01/2023 under the guidance of Prin. Savita Bidkar at 11.00 a.m. in the Exam Department to discuss on the following agenda. Attendance is compulsory.

Agenda for the meeting is under -

- 1. To confirm the minutes of last meeting held on 25/06/2022
- 2. Review of July to Aug. examination 2022
- 3. Planning for university examination
- 4. Timetable for practical examination
- 5. Any other subject permitted by chair

Principal

Principal

Prin. Dr. Shudhakar Jadhavar Arts, Commerce & Science College, Narha - Dhayari, Pune - 41

Sr.	Member of Committee	Sign
1	Asst. Prof. Savita Bidkar	Boller
2	Asst. Prof. Arundhati Kulkarni	Om
3	Asst. Prof. Mrunali Kadam	mone
4	Asst. Prof. Veda Khirit	(Majeri)





Prin. Dr. Sudhakar Jadhavar Arts, Commerce & Science College

Manaji Nagar Narhe- 411041

3rd Examination Committee Minutes

Examination Committee Meeting was held on 04/01/2023 at 11 am in exam dept. under the guidance of Prin. Savita Bidkar . Following discussion has been made according to agenda.

- To confirm the minutes of last meeting- The minutes of meeting held on 25 /06/22 was read out and confirmed.
- Review of Last Exam.- Asst. Prof. Arundhati Kulkarni took overview of July-Aug. 2022 examination. She told that B.Com., M.Com. exam has been completed between 20 july to18 Aug. 2022 and 04 July to 21 July 2022 as per university guidelines.
- Planning for upcoming university examination- Asst. Prof. Savita Bidkar told to the all members of the exam committee that University exam for B.Com And M.Com. will be taken between 10 Jan. to 06 Feb.2023 as per university scheduled.
- Time table for practical examination- Asst. Prof. Savita Bidkar make discussion on Practical Examinaton date for B.Com., M.Com.
- Any other subject permitted by chair- As there is no other subject arised hence the meeting was end with vote of thanks.

Principal

Principal

rin: Dr. Shudhakar Jadhavar Arts, Commerce Science College, Narhe - Dhayari, Pune - 41 Selection of the select

C.E.O.

Prin. Dr. Sudhakarrao Jadhavar Arts, Commerce & Science College

Manaji Nagar Narhe- 411041

Date: 01/06/2023

Notice

Examination Committee Meeting

This is inform to all the Exam committee members that the --- Committee Meeting will be conducted on 03/06/2023 under the guidance of Prin. Savita Bidkar at 11.00 a.m. in the Exam Department to discuss on the following agenda. Attendance is compulsory.

Agenda for the meeting is under -

- 6. To confirm the minutes of last meeting held on 04/01/2023
- 7. Review of Jan. to Feb. examination 2023
- 8. Planning for university examination
- 9. Timetable for practical examination
- 10. Any other subject permitted by chair

Principal

Principal

Prin. Dr. Shudhakar Jadhavar Arts, Commerce & Science College, Narha - Langari, Pune - 41

Sr.	Member of Committee	Sign
1	Dr. Renuka Ghadyalji	æ.
2	Asst. Prof. Savita Bidkar	and in
3	Asst. Prof. Arundhati Kulkarni	Air
4	Asst. Prof. Veda Khirit	Ikhiri

C.E.O.



Prin. Dr. Sudhakarrao Jadhavar Arts, Commerce & Science College

Manaji Nagar Narhe- 411041

Examination Committee Minutes

Examination Committee Meeting was held on 03/06/2023 at 11 am in exam dept. under the guidance of Prin. Savita Bicker. Following discussion has been made according to agenda.

- To confirm the minutes of last meeting- The minutes of meeting held on 04/01/23 was read out and confirmed.
- Review of Last Exam.- Asst. Prof. Arundhati Kulkarni took overview of jan to feb.. 2023 examination. She told that B.Com., M.Com. exam has been completed between 10 jan. to 06 Feb. 2023 as per university guidelines.
- 8) Planning for upcoming university examination- Asst. Prof. Dr. Renuka Ghadyalji told to the all members of the exam committee that University exam for B.Com And M.Com. will be taken between 07/06/2023 to 15/07/ 2023 as per university scheduled.
- Time table for practical examination Asst. Prof. Dr. Renuka Ghadyalji make discussion on Practical Examinaton date for B.Com., M.Com.
- 10) Any other subject permitted by chair- As there is no other subject arised hence the meeting was end with vote of thanks.

Principal

Principal

Prin. Dr. Shudhakar Jadhavar Arts, Commerce & Science College, Narhe - Dhayari, Pune - 41 College * Dr. Sury reserved of the left Herein College of the left of the left

C.E.O.

Prin.Dr. Sudhakarrao Jadhavar Art's,Commerce & Science College

Adv.Shardul Sudhakarrao Jadhavar Educ Campus,Narhe-Dhayari , Pune - 41
Fees as on A.Y. 2022 - 23

Sr No	Course Name		Fees
		English Medium	Marathi Medium
		Commerce	
1	F.Y.B.Com	14500	13000
2	S.Y.B.Com	14500	12000
- 3	T.Y.B.Com	14500	12000
		Post Graduation	
1	M.Com F.Y		13000
2	M.Com S.Y		13000



rin. Dr. Sudhakarra Arts, Commerce
& Science College and Arts

Prin.Dr. Sudhakarrao Jadhavar Art's, Commerce & Science College

Adv.Shardul Sudhakarrao Jadhavar Educ Campus,Narhe-Dhayari , Pune - 41 Fees Reconciliation statement as on A.Y. 2022 - 23 Date-

Sr No	lo Class	Admission	Fees Per Student	Total Fee	Consession Amnt	Total Fee - Consession Fee =	Total Recived Fee	Balance Fee
				Facu	Faculty of commerce			
1	FYBCOM English	115	14500	1667500				
	FYBCOM Marathi	136	13000	1768000	61850	3373650	2663380	710270
2	SYBCOM English	95	14500	1377500	o			
	SYBCOM Marathi	69	12000	828000	c	2205500	2031170	174330
З	TYBCOM English	84	14500	1218000				
Ļ	TYBCOM Marathi	84	12000	1008000	1000	2225000	1938400	286600
4 1	M Com I	66	13000	858000	0	050000		
>	M Com II	30	12000	50000	,	000000	000000	195000
1		00	13000	000700	0	507000	433000	74000
1		688		9232000	62850	9169150	7728950	1440200



Prin. Dr. Sudhakarrao ladbavar Arts, Commerce & Science College, Narher Dhayari Dine - 41